oo oguogboubodbogod

gogn gogoboobodd
goooboobboogo

goon goooboobboodgd

HEN .00/0

gogn

godn goobbbbbuogoglzogoboosbrn

goon 18662248593 18662248593

HREREEN

1ngdgoooobobobboooogoobn

guooobobogdgad

200000

gudoubobbboooouobobobbogoooubbbbooouobbbbouooobobbobon
gobbobbboogoooboboobbodooouoboobbobouoooooboobo

W OoOoOo0

000000000000000000000000000000000000000000000
000002mol/L(1/212)000000000@O000)00000

A000nDoO0n

O0000000poooee/mee20 0000, 0000000000 DLOO0O0DDO0OODDO0

41000000.1mg0



4200000000

430 00 0O 0 0 240-2750 /mind

4400000071y mQU

450 (GB/T 675)0

460 00 (GB/T 1272)0

4,70 0 O (Na25203?5H20)(GB/T637).

4800000 (HGB 3095)0

49(GB1259) DO

O000DO0O00O01999-11-100 OO 2000-04-0100 O

GB/T12496.8 - 1999

sununy

5.10.1mol/LO (1/212)0 0 0 O

Oz2eg0 D0 D000O030mLO0O, 00130, 00000000 DOO000,00bO00001000mL,00ogn
O0(@.10.02)mol/LOD OO0, 0000000O20,0000,000000000O.

O0D0D0D0DO0O13719148859 U U U OO DO O DO O 240 0O QQ:1097765623

O0:00000000DbO02mLOS0OmLO O O00D0O0020mL.O00000O0Imo/LODOODOOONO
go,0ogooobobooboo,oboboobboooogbtzaml0boo,0bbobbooooaon

g,0ggd.



Oooooo@oo

c27V2c2 V2

cl==00000 (1)

V120

O0:cl----0(/212)0 000000, mol/L;

c2----0J 0 O (Na25203?5H20)0 0 O O 0O O O, mol/L;

Ve----Judgoooboodooodddme,

Vi----0Ooodoooo,20mL.

5200000

00100 0000,010mLO0,0000190mLO000,0002min,00,0000000,0000000
uo.

530lmol/LDO0ODODOO0O

0O 02690 O O (Na2S203?5H20)0 O 1000mLO O, 0000 10min, 00,0 0000 00O00O0OODOO0OO
0.

O0:000150g(0 O00Img)yd 1200 0000 OO @9),00250mLO 00O O,0025mL0 00O O,0 290
O0020mL" 1+8” ,00,00 00 0O 10min.0 100mLO,001mol/LO0OODO0OOOO0O0O, 00000 3m
LOOoooO,0bo0booobooboobo.obobooboo,bg@):

c=00000 ()

(V1-V2) 70.04903



OO:c----000000, mol/L;

m-—--00,g

Vi----0oododogoo,mL

V2----0000000ooono,g/mol

49.03----(1/6K2Cr207)0 0 O O ,g/mol.

e oonooogo

610000007wumO000005(00004mg),000000000,07ymO0000,000001
oomLO 000,000 0(1+9)100mLO00000,000000000,00(3072)s,000000,0050.0
mLOO0Imo/LD 000 O0.000000,00000001mn 0000000000,

620 00 00D0100mLOO,00250mLO 00O O, 00100mLO,00mol/LOO0OOOOOOODOO0O,O
gobooboo0zmidddgo,gogoooboboboo,obbobbodoooon.

rguoooooggoa

5(10c1-1.2c2V2)? 127

A=(DO0O0O (3)

O00A--00000000my/;

cl--00000000O0mollL;

c2----000000000O0O, mol/L

V2----00ggdooobon, mol

m---0 0 0O 0 ,g;



127---0 (1/2)120 0 O O ,g/mol;

D---0000,00000c300100.

c3=c2?V2/10 ---------- 4)

:gggouooobbgo,bgoooobbobbogoooooobobooa.

guUUnoobooDoooaa

0000O00(@O0O000)000600-1450mg/g0 0 O 0 O O 5.6%0

O0000D0OO0O0ODOe00-1450mg/gl) U O O 0 0 10.2%0


http://www.tcpdf.org

